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(2) Show €l t -;-9—% and —f;% both 2xist o (0,0). Whal ave thelr

valweo ot (o 0)7
6) show that £om 3. ¥) otaao wel  eist. ((S7)

Xg)>eev)

2. Frad the volume of the solidd bounded above by ¢= X4 andd below 53( the
'Ewangf_( wrﬁl\. V&Yf LQ,S (0/ 0) ’ ()“ 0) CO l) (ls./p)

3 A manufacturer makes 3 praductv 2 A, B, and ¢ on whicl, tle profot
per unit & $6, $8 and $10, resfec'(':'\/e(g,, The dm‘[y_ levels of procluctio,
are X, 4, and &, respch.‘ve(# . Thae reseavcly o(o.(arfmmf hao o&qc&,{ <Lt
X, 4, and § must be subject & thg consbraint: X'+ 4+ =900
Find the levels of prooluction of encl produc that will maximize dacly
profit. (is%)

4. A tdephone pole is (& ft away from & strall [ght ; £ (athy s 20
4t above +tha gyouno(. A 5:8«u.‘rre! Yuns v‘»ID the ﬁlefl\ovu’ pole aj‘ 9 Filec.
How fast is the sgwivrels shadow traveling along the Clevel) ground
whea +he spuirel s (8 ft abwe the ground T C(S%)

-8 Evalual Ca)J m o(x LL)J

(“&ﬂx dx (0o %)
6. The reg,?ov; R tn the -first guadmn(: 'S EOuno&zp[ a bove b&" the gmfl\
O)C g: \)S:‘n:c ana( be(aw l’? the X-axis, os X¢g m, Whe" s ro‘faﬁ,(
around Hha x-axis It genemfzs a solvd of voluwa V. Find V. (0%)

7. If Za, and T b are BotL tonvergt L sevieo, ©s LAy bn Converge T ?
EXP(GI'\ : (_(O/)

3. F.‘no( the avea boundeol 53 one (aofa of the g,m’pL. o:f <l Po(ar '
eg-w»(a"'\'on Y= s'n@ Cose ((o%)

e I






